
1
2

3
4

5
1

2
3

30°

45°

30°

45°

4
5

6

1
2

3
4

5

1
2

3

30°

45°

4
5

6

6
7

7

8

8

9

9

10

10
11

11

0

10
20

30
40

50
60

7080

0

10
20

30

40

50

60
70

80

32 32

21.5
9.517

37 30°

45°

1

®

1
2

3
4

5

1
2

3

30°

45°

4
5

6

6
7

7

8

8

9

9

10

10
11

11

0

10
20

30

40

50

60
70

80

32 32

21.5
9.517

37 30°

45°

1
2

3
4

5

1
2

3

30°

45°

4
5

6

6
7

7

8

8

9

9

10

10
11

11

0

10
20

30

40

50

60
70

80

32 32

21.5
9.517

37 30°

45°

1
2

3
4

5

1
2

3

30°

45°

4
5

6

6
7

7

8

8

9

9

10

10
11

11

0

10
20

30

40

50

60
70

80

32 32

21.5
9.517

37 30°

45°

1
2

3
4

5

1
2

3

30°

45°

4
5

6

6
7

7

8

8

9

9

10

10
11

11

0

10
20

30

40
50

60
70

80

32 32

21.5
9.517

37 30°

45°

1
2

3
4

5

1
2

3

30°

45°

4
5

6

6
7

7

8

8

9

9

10

10
11

11

0

10
20

30

40

50

60
70

80

32 32

21.5
9.517

37 30°

45°



2

Milescraft, Inc.
www.milescraft.com

Milescraft, Inc.
www.milescraft.com



1
2

3
4

5

45°

6

1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
30°45°

30°

45°30°

7080
60 50 40

30
20

10
0

45°

30°

70
80

60
50

40
30

20
10

0

32

17

37

9.5

32

21.5

15 13

14 12

13 11

12 10

11 9

10
45° 8

9 7

8 6

7 5

6 4

5 3

4 2

3

2

1

1 45°30°

30°45°

30°

7080
60 50 40

30
20

10
0

45°

30°

70
80

60
50

40
30

20
10

0

32

17

37

9.5

32

21.5

30

29

28

27

26

25

24

23

22

21

20

19

18

17

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

28

27

26

25

24

23

22

21

20

19

18

17

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

3



1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

45°

30°

45°

30°

70
80

60
50

40
30

20
10

0

32

17

37

9.5

32

21.51
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

45
°

30°

45
°

30°

70
80

60

50

40

30
20

10

0

32

17

37

9.5

32

21.5

1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

45
°

30°

45
°

30°

70
80

60

50

40

30
20

10

0

32

17

37

9.5

32

21.5

1

2

3

4

5

6

7

8

9

10

11

1

2

3

4

5

6

7

8

9

10

11

45°

30°

45°

30°

70 80

60

50
40

30
20

10

0

32

17

37

9.5

32

21.5

4

32

37

1721.5
9.5

32

30
°

45
°

0
1
0

2
0

3
0

40

50

60

80
70

45
°

30
°

30°

1

2

33

44

55

66

77

88

2

1

0

10
20

30
40

50

60
70

80

45° 30°

32

32

21.5

37 17

99

10

45°



2

0 10 20
30

40

50

60
70

80

45°30°

45°30°

32

17

37

32

31 8 975 64

2 31 8 975 64

21.5

9.5

2

0 10 20
30

40

50

60
70

80

45°30°

32

17

37

32

31 8 975 64

2 31 8 975 64

21.5

9.5

17

0

10

20
30

40 50 60 70
80

1

2

3

4

5

6

7

8

9

10

2

3

4

5

6

7

8

9

10

11

30°

32

45°

2

0 10 20
30

40

50

60
70

80

45°30°

45°30°

32

17

37

32

31 8 975 64

2 31 8 975 64

21.5

9.5

32

37

1721.5
9.5

32

30
°

45
°

0
1
0

2
0

3
0

40

50

60

80
70

45
°

30
°

5

17

0

10

20
30

40 50 60 70
80

1

2

3

4

5

6

7

8

9

10

2

3

4

5

6

7

8

9

10

11

30°

32

45°



1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

45
°

30°

45
°

30°

70
80

60

50

40

30
20

10

0

32

17

37

9.5

32

21.51
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

45°

30°

45°

30°

70
80

60

50

40

30

20
10

0

32

17

37

9.5

32

21.5

21.5

37

32

17

32

10
0

20
30

40
50

45°

30°

45°

30°

60

70
80

1

2

3

4

5

6

7

8

9

10

11

1

2

3

4

5

6

7

8

9

10

11

1
2

3
5

6
7

8
9

1
2

3
4

5
6

7
8

9

10

45°

32 32

37

17 21.5
9.5

80 70
60

50

40
30

20
10

0

30°

45°

30°

6

45°

1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

45°

30°

45°

30°

70
80

60
50

40
30

20
10

0

32

17

37

9.5

32

21.5

1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

45
°

30°

45
°

30°

70
80

60

50

40

30
20

10

0

32

17

37

9.5

32

21.5



1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

45°

30°

45°

30°

70
80

60
50

40
30

20
10

0

32

17

37

9.5

32

21.5 1

2

3

4

5

6

7

8

9

10

11

1

2

3

4

5

6

7

8

9

10

11

45°

30°

45°

30°

70

80

60
50

40
30

20
10

032

17
37

9.5

32

21.5

1

2

3

4

5

6

7

8

9

10

11

1

2

3

4

5

6

7

8

9

10

11

45°

30°

70

80

60
50

40
30

20

1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

0
10

20
30

40

50
60

7080

30°

45°

30°

45°

32
32

37
21.5

9.517

7

70°



0 10 20
30

40

50

60
70

1 2 3 4 5 6 7 8

45°30°

30°

45°

32
32

37

17
9.5

21.5

1 2 3 4 5 6 7 8 9

1
2

3
4

5
6

7
8

9
10

11

1
2

3
4

5
6

7
8

9
10

11

0
10

20
30

40

50
60

7080

30°

45°

30°

45°

32
32

37
21.5

9.517

8



1 2 3 4 5 6 7 8 9 10 11

1 2 3 4 5 6 7 8 9 10 1130°

45°

20

30

100

3
2

1
7

3
7

9
.5 3

2

2
1

.5
30°

40

50

60
70

80

45°

1234567891011

1234567891011 45
°

30
°

45
°

30
°

70
8
0

60

50

40

30

20
10

0

3
2

1
7

3
7

9
.5

3
2

2
1

.5

32
32

37

17

1 2 3 4 5 6 7 8 9 10 11

0 10
20

30

40

50

60
70

80

45°

9.5
21.5

30°

45°

30°

1 2 3 4 5 6 7 8 9 10 11

32
32

37

17

1 2 3 4 5 6 7 8 9 10 11

0 10
20

30

40

50

60
70

80

9.5
21.5

45°

30°

1 2 3 4 5 6 7 8 9 10 11

9



1234567891011

1234567891011 45
°

30
°

45
°

30
°

70
8
0

60

50

40

30

20
10

0

3
2

1
7

3
7

9
.5

3
2

2
1
.5

10



For Hinge Cup

123456

123456

30
°

45
°

30
°

70
80

60
50

40
30

20
10 0

32

17

37

9.
532

21
.5 For Hinge Cup

45
°

30
°

70
80

60
50

40
30

20
10 0

32

17

37

9.
532

21
.5

BOTTOM OF DOOR

For Hinge Cup

5
6

7
8

9
10

11

4
5

6
7

8
9

10
11

45°

30°
70

80

60
50

11

For Mounting Plate

45
°

30
°

70
80

60
50

40
30

20
10 0

32

17

37

9.
532

21
.5

For Mounting Plate

123456

123456

30
°

45
°

30
°

70
80

60
50

40
30

20
10 0

32

17

37

9.
532

21
.5



26mm

32mm

DOOR CABINET SIDE

35mm

32mm

DOOR CABINET SIDE

12

21.5mm

45°30°

70
80

60

50

40

30
20

10

0

32

17

37

9.5

32

21.5

17mm

1 2 3 4 5 6

1 2 3 4 5 6

30°

45°30°

70
80

60

50

40

30
20

10

0

32

17

37

9.5

32

21.5



9.5mm

30°
30°

70
80

60
50

40
30

20
100

3217

37

9.5
9.5

21.5

151413

121110987654321

131312111010987654321

9.5mm

13

45°

30°

45°
30°

70
80

60
50

40
30

20
100

3217

37

9.5 3221.5

302928272625242322212019181716151413

121110987654321

28272625242322212019181716151413121110987654321

9.5mm

45°

30°

45°

30°

70
80

60
50

40
30

20
100

3217

37

9.5 3221.5

302928272625242322212019181716151413

121110987654321

28272625242322212019181716151413121110987654321

9.5mm



30°
30°

70
80

60
50

40
30

20
100

3217

37

9.5
9.5

21.5

151413

12121110987654321

131312111010987654321

9.5mm

30°
30°

70
80

60
50

40
30

20
100

3217

37

9.5
9.5
9.5

15151413

12121110981

13131312111010987654321

9.5
mm

32mm

14

45°

30°

45°
30°

70
80

60
50

40
30

20
100

3217

37

9.5 3221.5

302928272625242322212019181716151413

121110987654321

28272625242322212019181716151413121110987654321

9.5mm

45°

30°

45°

30°

70
80

60
50

40
30

20
100

3217

37

9.5 3221.5

302928272625242322212019181716151413

121110987654321

28272625242322212019181716151413121110987654321

9.5mm

9.5mm + 32mm

45°

30°

45°

30°

70
80

60
50

40
30

20
100

3217

37

9.5 3221.5

302928272625242322212019181716151413

121110987654321

28272625242322212019181716151413121110987654321

9.5mm + 32mm

45°

30°

45°

30°

70
80

60
50

40
30

20
100

3217

37

9.5 3221.5

302928272625242322212019181716151413

121110987654321

28272625242322212019181716151413121110987654321



1
2

3
4

5
1

2
3

30°

45°

30°

45°

4
5

6

0

10
20

30
40

50
60

7080
30°

45°

30°

45°

0

10
20

30
40

50
60

7080

30°

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

13

12

11

10

9

8

7

6

5

4

3

2

1

1

Deutsch-8409
Teile # Bezeichnung Menge

1 20068 Metallwinkel (6 Zoll) 1
2 34018 Anschlag (3,5 Zoll) 1
3 41003 Montageschrauben, M4x0.7x10 2
4 41004 Mutter, M4x0.7 2

Teile # für Art. 8459
Teile # Bezeichnung Menge

5 20066 Metallwinkel (15 cm) 1

1

Español-8409
Comnte # Descripción Cant

1 20068 Escuadra metálica (6˝) 1
2 34018 Guía (3,5˝) 1
3 41003 Tornillo de cabeza segmentada M4 x 0.7 x 10 2
4 41004 Tuerca hexagonal M4 x 0.7 2

8459 Piezas Métricas
Comnte # Descripción Cant

5 20066 Escuadra metálica (15 cm) 1

1

Français-8409
N° de pièce Description Qté

1 20068 Équerre métallique (6 po) 1
2 34018 Guide (3,5 po) 1
3 41003 Vis à tête bombée M4 0,7 x 10 2
4 41004 Vis à tête bombée M4 0,7 x 10 2

8459 Pièces Métriques
N° de pièce Description Qté

5 20066 Équerre métallique (15 cm) 1

1

English-8409
Part # Description Qty

1 20068 Metal Square (6") 1
2 34018 Fence (3.5") 1
3 41003 M4 x 0.7 x 10 Truss Head Screw 2
4 41004 M4 x 0.7 Hex Nut 2

8459 Metric Parts
Part # Description Qty

5 20066 Metal Square (15 cm) 1

15

®



1
2

3
4

5

1
2

3

30°

45°

4
5

6

6
7

7

8

8

9

9

10

10
11

11

0

10
20

30

40

50

60
70

80

32 32

21.5
9.517

37 30°

45°

30°

45°

0

10
20

30

40

50

60
70

80

32 32

21.5
9.517

37 30°

45°

30

29

28

27

26

25

24

23

22

21

20

19

18

17

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

28

27

26

25

24

23

22

21

20

19

18

17

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

1

Deutsch-8410
Teile # Bezeichnung Menge

1 20069 Metallwinkel (12 Zoll) 1
2 34017 Anschlag (7,25 Zoll) 1
3 41003 Montageschrauben, M4x0.7x10 2
4 41004 Mutter, M4x0.7 2

Teile # für Art. 8460
Teile # Bezeichnung Menge

5 20067 Metallwinkel (30 cm) 1

1

Español-8410
Comnte # Descripción Cant

1 20069 Escuadra metálica (12˝) 1
2 34017 Guía (7,25˝) 1
3 41003 Tornillo de cabeza segmentada M4 x 0.7 x 10 2
4 41004 Tuerca hexagonal M4 x 0.7 2

8460 Piezas Métricas
Comnte # Descripción Cant

5 20067 Escuadra metálica (30 cm) 1

1

Français-8410
N° de pièce Description Qté

1 20069 Équerre métallique (12 po) 1
2 34017 Guide (7,25 po) 1
3 41003 Vis à tête bombée M4 0,7 x 10 2
4 41004 Vis à tête bombée M4 0,7 x 10 2

8460 Pièces Métriques
N° de pièce Description Qté

5 20067 Équerre métallique (30 cm) 1

1

English-8410
Part # Description Qty

1 20069 Metal Square (12") 1
2 34017 Fence (7.25") 1
3 41003 M4 x 0.7 x 10 Truss Head Screw 2
4 41004 M4 x 0.7 Hex Nut 2

8460 Metric Parts
Part # Description Qty

5 20067 Metal Square (30 cm) 1

16

®




